
Tabu ,l ka Laplaceovej transformácie

Originál Laplaceova transformácia
1. f (t) F (p) = L [f (t)] =

R1
0
f (t) e�ptdt

2. �(t) 1
p

3. �f (t) + �g (t) L [�f (t) + �g (t)] = �L [f (t)] + �L [g (t)]
4. tnf (t) L [tnf (t)] = (�1)n F (n) (p)
5. tn n !

pn+1

6. eatf (t) L [eatf (t)] = F (p� a)
7. eat L [eat] = 1

p�a
8. tneat L [tneat] = n!

(p�a)n+1

9. cos t L [cos t] = p
p2+1

10. sin t L [sin t] = 1
p2+1

11. f (ct) ; c 2 R+ L [f (ct)] = 1
cF
�
p
c

�
12. �(t� �) f (t� �) L [� (t� �) f (t� �)] = e�p�F (p)
13. f (t) periodická - T L [f (t)] =

R T
0
f(t)e�ptdt

1�e�pT = FT (p)
1�e�pT

14. f (k) (t) L
�
f (k) (t)

�
= pkF (p)�

Pk�1
j=0 p

k�1�jf (j) (0+)

15.
R t
0
f (s) ds L

hR t
0
f (s) ds

i
= F (p)

p

16. (f � g) (t) =
R t
0
f (s) g (t� s) ds L [(f � g) (t)] = L [f (t)]L [g (t)]

Inverzná Laplaceova transformácia
17. f (t) =

Pn
k=1 resp=pk [F (p) e

pt] ; 8t > 0

1


